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R  S  M  S            Code No. : 14 / PB / EC 

FIRST PRE-BOARD EXAMINATION 2014 
SUBJECT – ECONOMICS 

CLASS – XII 

 

• Please check that this question paper contains 4 printed pages 

• Please check that this question paper contains 32 questions 

• Please write down the Serial Number of the Question before attempting it. 

• Ñi;k tk¡p dj ysa fd bl iz'u i=k esa eqfnzr i`"B 4 gSa A 
• Ñi;k tk¡p dj ysa fd bl iz'u i=k esa 32 iz'u gSa A 
• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksa A 

 
Roll No. : ……………        Time Allowed : 3 Hours 

Class : ……………….           Maximum Mark : 100 

PART – A /  [k.M&v 

Q.1. What do you mean by Marginal Revenue ?         (1) 

lhekUr lEizkfIr (vkxe) ls D;k vfHkizk; gS \ 
Q.2. Define Monopoly.           (1) 

,dkf/dkj dks ifjHkkf"kr dhft, A 
Q.3. State the law of increasing marginal opportunity cost.       (1) 

o`n~f/eku lhekUr volj ykxr dk fu;e crkb,A 
Q.4. If a consumer has monotonic preferences, can she be indifferent between  

the bundles (10, 12) and (8, 10) ?          (1) 

;fn ,d miHkksDrk ds vf/eku ,dfn"V gSa] rks D;k og c.My (10] 12) vkSj c.My (8] 10) ds  
chp rVLFk gks ldrk gS \ 

Q.5. Ketchup is a complement for burgers. If the price of burgers rises what will happen  

to the demand for ketchup ?           (1) 

 cxZj ds fy, VekVj dh pVuh ,d iwjd oLrq gSA cxZj dh dher esa o`n~f/ dk VekVj dh pVuh dh 
ek¡x ij D;k izHkko iM+sxk \ 

Q.6. A price taking firm in perfect competition always gets normal profit in long run.  

Do you agree. Explain.          (3) 

 ^^,d iw.kZ izfr;ksxh QeZ nh?kZdky esa lnSo lkekU; ykHk vftZr djrh gSA** D;k vki bl dFku ls 
lger gSa\ O;k[;k dhft, A  

Q.7. State the relationship between Average Cost (AC) and Marginal Cost (MC) with the help  

of a diagram.            (3) 

 js[kkfp=k dh lgk;rk ls vkSlr ykxr (AC)  ,oe~ lhekUr ykxr (MC)  esa lEcU/ crkb,A 
Q.8. State the difference between change in demand and change in quantity demanded with the  

help of diagrams.            (3) 

fp=k dh lgk;rk ls ek¡x esa ifjorZu ,oe~ ek¡x dh ek=kk esa ifjorZu esa vUrj Li"V dhft, A 
Q.9. The price of a commodity is ì   Rs. 50  per unit and its quantity demanded is 500 units. Its price rises 

to ì   60 per unit and its quantity demanded falls by 90 units. Calculate its price elasticity of demand.               

(3) 
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,d oLrq dh 50 ì   izfr bdkbZ dher ij bldh 500 bdkb;ksa dh ek¡x dh tkrh gS] tc oLrq dh 
dher c<+dj 60 ì   izfr bdkbZ gks tkrh gS rks bldh ek¡x ek=kk 90 bdkb;k¡ ?kV tkrh gSA ek¡x dh 
dher yksp dh x.kuk dhft, A 

Q.10. State the feature of Production Possibility Curve.        (3) 

mRiknu laHkkouk oØ dh fo'ks"krk,¡ crkb, A 
OR / vFkok  

 Explain the Central problem ‘What to proceduce’ with an example.     (3) 

 ^D;k mRiknu djsa* dh dsUnhz; leL;k dks mnkgj.k lfgr crkb, A  
Q.11. Because of Cyclone in Orrissa, the sea level covers a lot of rice fields. This reduces productivity  

of land. How will it affect the supply curve for price of India ?        (4) 

 mM+hlk izns'k esa pØokr ds dkj.k leqnzh ikuh n~okjk /ku ds [krksa esa tyHkjko gks x;k] ftlds 
ifj.kkeLo:i Hkwfe dh moZdjrk esa deh gks xbZ] bldk Hkkjr dh pkoy dh vkiwfrZ ij D;k izHkko 
iM+sxkA 

Q.12. Complete the following table.           (4) 

 fuEu rkfydk dks iwjk dhft, A 
  

Output units /   mRiknu bdkb;k¡ 1 2 --- 4 

Total Variable Cost /  dqy ifjorhZ ykxr --- 20 --- 40 

Average Variable Cost /  vkSlr ifjorhZ ykxr 12 --- 10 --- 

Marginal Cost /   lhekUr ykxr  
 

--- --- 10 --- 

 

Q.13. Define Average Revenue. Explain the relation between MR and AR when a firm is able to sell more 

quantity of output             (4) 

 (i) At same price 

 (ii) Only by lowering the price 

OR 

 Explain the effect on supply curve due to following reasons.      

(i) Rise in tax rates by Government  

(ii) Rise in price of Inputs 

vkSlr lEizkfIr (vkxe) dks ifjHkkf"kr dhft,] lhekUr lEizkfIr (vkxe) ,oe~ vkSlr lEizkfIr 
(vkxe) esa lEcU/ crkb, tc ,d QeZ vf/d bdkb;ksa dk foØ; dj ldrh gS 
(i) ,d leku dher ij 
(ii) dherksa esa deh djds 
   vFkok 
fuEu ifjorZuksa dk vkiwfrZ oØ ij iM+us okys izHkko dks crkb, A 
(i) ljdkj n~okjk dj dh njksa esa o~nf/ 
(ii) vkxrksa dh dherksa esa o`n~f/ 

Q.14. Explain with the help of diagram the effect of the following changes on the demand  

of commodity.             (6) 

 (i) An unfavourable change in taste of buyer for the commodity  

 (ii) A fall in the income of its buyer if the commodity is inferior. 

OR 

 Explain different situations under which budget line shifts. Use diagram.  
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 js[kkfp=kksa dh lgk;rk ls fuEu ijorZuksa dk oLrq dh ek¡x ij iM+us okys izHkkoksa dh O;k[;k dhft, A 
 (i) miHkksDrk dh :fp esa udkjkRed ifjorZu 
 (ii) ?kfV;k oLrq dh fLFkfr esa miHkksDrk dh vk; esa deh 

vFkok 
js[kkfp=kksa dh lgk;rk ls crkb, fd ctV js[kk fdu&fdu ifjfLFkfr;ksa esa f[kld ldrh gS \ 

Q.15. State the Law of Variable proportions with the help of a numerical example.    (6) 

 ,d la[;kRed mnkgj.k dh lgk;rk ls ifjorhZ vuqikrksa ds fu;e dh O;k[;k dhft,A 
Q.16. Suppose the price of a commodity is less than its equilibrium price. What will be its chain effect  

on the market. Use Diagram.            (6) 

 Ekkuk fd fdlh oLrq dh dher bldh larqyu dher ls de gS] bldk cktkj ij iM+us okyk J`a[kyk 
izHkko crkb,] js[kkfp=k dk mi;ksx dhft, A 

PART – B /  [k.M &c 

Q.17. Define barter exchange system.          (1) 

 oLrq fofue; iz.kkyh dks ifjHkkf"kr dhft, A 
Q.18. If value of MPC = 0.65, what will be the value of MPS.      (1) 

 ;fn MPC  dk eku 0-65 gS rks MPS  dk eku D;k gksxk \ 
Q.19. Raj Kumar is a salaried person, what will be the impact of inflation on his income ?   (1) 

 jktdqekj ,d oSrfud O;fDr gS] LQhfr dk mldh vk; ij D;k izHkko iM+sxk \ 
Q.20. Define foreign exchange rate.           (1) 

 fons'kh fofue; nj dks ifjHkkf"kr dhft, A  
Q.21. Give two examples of direct taxes.           (1) 

 izR;{k dj ds nks mnkgj.k nhft, A 
Q.22. What is the difference between intermediate goods and final Goods ?     (3) 

 eè;orhZ oLrqvksa ,oe~ vfUre oLrqvksa esa D;k vUrj gS \ 
Q.23. State the circular flow of income in two sector economy.       (3) 

 nks {ks=kh; vFkZO;oLFkk esa vk; dk pØh; izokg le>kb,  
OR / vFkok  

 Differentiate between nominal and real GDP   

 ekSfnzd ,oe~ okLrfod GDP  esa vUrj Li"V dhft, A    

Q.24. Explain the ‘Medium of Exchange’ function of Money.       (3) 

 eqnzk ds ^fofue; dk ekè;e* dk;Z dh O;k[;k dhft, A 
Q.25. Differentiate between Depreciation and Devaluation of domestic Currency.    (3) 

 ?kjsyw eqnzk ds ewY;àkl ,oe~ voewY;u esa vUrj Li"V dhft, A 
Q.26. India is suffering from the problem of current account deficit. How is it met or financed ?  (3) 

 Hkkjr esa orZeku esa pkyw [kkrs esa ?kkVk ns[kus dks fey jgk gSA bl ?kkVs dks iwjk fdl izdkj fd;k  
tk ldrk gS \ 

Q.27. Suppose in an economy consumption function is C = 40 + 0.75 Y and I = ì   60, then calculate the 

following             (4) 

 (i) Equilibrium level of Income.  

 (ii) Consumption at the Equilibrium level of Income.  

 ekuk ,d vFkZO;oLFkk esa miHkksx Qyu C = 40 + 0.75 Y vkSj I = ì  60  gS rks fuEu dh x.kuk dhft, A 
 (i) vk; dk larqyu Lrj  (ii) vk; ds larqyu Lrj ij miHkksx 
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Q.28. What do you understand by fiscal deficit. Can Fiscal deficit take place without revenue deficit ? 

             (4) 

 jktdks"kh; ?kkVs ls vki D;k le>rs gSa] D;k jktLo ?kkVs ds fcuk jktdks"kh; ?kkVk gks ldrk gS \ 
Q.29. Distinguish between revenue expenditure and capital expenditure. Give two examples of each.  (4) 

 mnkgj.k lfgr jktLo O;; ,oe~ iw¡thxr O;; esa vUrj Li"V dhft, A 
OR / vFkok 

 State any two objectives of Government budget.         (4) 

 ljdkjh ctV ds nks mn~ns'; crkb, A 
Q.30. How can the problems of excess demand be solved with the help of monetary policy ?  

Ekk¡x vkf/D; dh leL;k dks ekSfnzd uhfr n~okjk fdl izdkj gy fd;k tkrk gS \      (6) 

 

Q.31. Explain the process of money creation by the commercial banking system.      (6) 

 O;kikfjd cSadks n~okjk lk[k l`tu izfØ;k dh O;k[;k dhft, A 
OR / vFkok 

 Explain the following     

(i) Issue of Currency Function of Central Bank 

dsfUnz; cSad n~okjk uksV tkjh djuk  
(ii) Banker’s Bank and Supervisor 

cSadks dk cSad ,oe~ i;Zos{kd 
Q.32. Calculate National Income and Personal Disposable Income from the following data.  (6) 

 fuEu vk¡dM+ksa dh lgk;rk ls jk"Vªh; vk; ,oe~ oS;fDrd iz;ksT; vk; ls x.kuk dhft, A 
  ( ì  in Crores / ì  djksM+ksa esa  ) 

(i) Government final consumption expenditure  

ljdkjh vfUre miHkksx O;; 
1,500 

(ii) Change in stock /  LVkWd esa ifjorZu 60 

(iii) Gross domestic capital formation  

ldy ?kjsyw iw¡th fuekZ.k 
800 

(iv) Private Income /   futh vk; 4,000 

(v) Net Exports /  'kqn~/ fu;kZr (-) 70 

(vi) Corporation Tax /  fuxe dj 500 

(vii) Net Indirect Taxes /  'kqn~/ vizR;{k dj   

(viii) Private Final Consumption Expenditure  

futh vfUre miHkksx O;;  
2,800 

(ix) Net factor income to abroad 

fons'kksa dks 'kqn~/ lk/u vk; 
50 

(x) Consumption of fixed capital  /  LFkkbZ iw¡th dk miHkksx 200 

(xi) Net retained earnings of Private Enterprises  

futh mn~;eksa dh izfr/kfjr vk; 
50 

(xii) Direct taxes paid by households 

x`gLFkksa n~okjk izR;{k djksa dk Hkqxrku  
300 

 

  


